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Instructions for the Candidates

Write your Seat No. and OMR Sheet No. in the space provided

on the top of this page.

This paper consists of 75 objective type questions. Each question

will carry fwo marks. All questions of Paper-III will be compulsory,

covering entire syllabus (including all electives, without options).

At the commencement of examination, the question booklet

will be given to the student. In the first 5 minutes, you are

requested to open the booklet and compulsorily examine it as
follows :

@) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal or open booklet.

@ii) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to missing pages/
questions or questions repeated or not in serial
order or any other discrepancy should not be
accepted and correct booklet should be obtained
from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given. The same
may please be noted.

(iit) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each question has four alternative responses marked (A), (B),

(C) and (D). You have to darken the circle as indicated below on

the correct response against each item.

Example : where (C) is the correct response.
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Sheet given inside the Booklet only. If you mark at any place
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If you write your Name, Seat Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means, you will render yourself liable to disqualification.
You have to return original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with
you outside the Examination Hall. You are, however, allowed
to carry the Test Booklet and duplicate copy of OMR Sheet on
conclusion of examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table, etc., is prohibited.
There is no negative marking for incorrect answers.
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Geography
Paper 111

A
gyAutreRt 111
Time Allowed : 2% Hours] [Maximum Marks : 150
Note : This Paper contains Seventy five (75) multiple choice questions. Each question
carrying Two (2) marks. Attempt All questions.
GOl : A1 GAUAh THY Ue@wl (75) Sgaar ued ol oTRd. Yok Ueen g (2)
O STed. WE WRA W

1. Which one of the following was the | 1 grefrertas UTHEA YT ST

major reason for which the

" e fagTaTan e ISR oy
continental drift theory was

el ?
denounced by many scholars ? ’
(A) the theory was considered as (A) =1 fagram  S=fer shedehen’ He
science fiction
el

(B) Wegener was not an earth

\l
scientist (B) AR RIEAR gl

(C) force mentioned by Wegener for (C) TSTRAMIS ITRA HifiTdere! e G-

drifting was inadequate

Ted

(D) some of the evidences were not

. (D) *E U @EREes o
convincing

3 [P.T.O.



o))
2)
3)
4)

Consider the following statements

and choose the correct answer from

among the options given :

Statement (1) : Convergent plate

boundaries have a fold mountain

system in their vicinity.

Statement (2) : All fold mountains

are located near the convergent

plate boundaries.

Options

(A) Both the statement are correct

(B) Both the statements are false

(C) Statement (1) is true but (2) is
false

(D) Statement (1) is false but (2) is
true

Select Geomorphic Process (List I)

and their associated landforms (List

II) are given below :

Choose the correct answer from the

codes :

List 1 List II
(Process) (Landforms)
Fluvial () Lunetteses
Glucial (i1) Coves
Aeolian (ziz) Levees
Solution (fv) Hummocks

(v) Regs
Codes :

A) (H)—(v), (2)—@@), (3)—(iv),
(4)—(1)

B) (1)—@), (2)—(v), (3)—(iir),
(4)—@v)

C) (1)—C@Gv), (2)—(1), (3)—(v),
(4)—(@)

D) (1)—(ii), (2)—@v), (3)—(v),
(4)—(@1)

2.

Trat I (ufema

(1) veeE @)
2) TeuEH (if)
(3) drdsl (Aeolian)
(4) faeg/g@Em

MAY - 36316/II1—A

el faummEn foear s T syl

oot e A gatg feer

faam (1) : ' yuee e diwen

Aol YNTd gt gad eTed.

e (2) : 9e Il TEd YU TR

HHISdS Hleldld.

=i

(A) T fouam 9 eTed

(B) Tt foum 1@ emRa

(C) faum (1) ¥ =% W faum (2)
I M

(D) faum (1) 9= 8 W faum (2)
T 3R

Tl faesh e gishan (A6l 1)
9 =l ffed & v (It 1) feeret
3TRd. g¢ Uikl 9 &Y A=A Siiedrd
Hehd ool oTRd WA 3Tk Hehd

IREEIEE

RICUS | ()
TAHH
o
(1) YL
(iv) T
) T

Hehdich :

A) (1)—(v),
(4)—)

(B) (1)—(@),
(4)—(@v)

(C) (LH)—(v), (2)—@G2), (3)—(v),
(4)—@)

D) (1)—(Gi), (2)—(Gv), (3)—(v),
4)—@)

(2)—@), 3)—(v),

(2)—(), 3)—(i),




Major Powell propounded the
concept of base level of erosion on

the basis of his expedition in :
(A) Henry Mountains

(B) Appalachian mountains
(C) Grand Canyon

(D) Colorado Plateau

Assertion (A) : “Slope is both the

cause and effect of erosion.”

Reason (R) : Slope represents the
rate of change of elevation with
reference to horizontal distance, in
other words it is also the rate of
conversion of potential energy into

kinetic energy.

(A) Both the statements are true
and (R) 1is the proper
explanation of (A)

(B) Both the statements are true
but (R) is not the proper
explanation of (A)

(C) Statement (A) is correct but (R)

is false

(D) Statement (A) is false but (R)

1s true

MAY - 36316/III—A
TSR it AT STA&RMe STERY Iies!
A - Y -
HifgHeared gfadied shell 3.

(A) B Teld

(B) 3focif¥rEs weld

(C) U=e H=H

(D) hIdREN Y3R

faem (A) : 'SAR 7 SuERTmE %R0
amfor aRome =l ee.

®RUT (R) : AR, 3HAA STAUTIR
BT sgalr Gidfeied sl o
AR gw 399 nfas= 3Sfa g
el widrei .

(A) o0 Sel faum seR 3med 9 (R)
T (A) 9 I WERU AR

(B) o =l faum sRIeR med W
(R) ® (A) = Irg TR0 6]

(C) T8 (A) SR TR g fasm (R)
I 3R

(D) =a (A) 9% 3¢ Wg fau™ (R)
ERELEEIF

[P.T.O.
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‘Decline of slope’ is the process ‘TAR HHE B o & wiwer
indicated by ......... for the T+ SaR TR T,
development of slopes.
(A) Albert Penk (8) T T
(B) Davis (B) <Sfeew
(C) King and Wood (C) fopm amfor 9
(D) Walter Penk (D) aeeX U=h
......... proposed a nine unit model for e iy SARTENT o TER B0
slope studies incorporating facts of iRl U AR % Teheh YiadH
slope processes operating over it. oS,
(A) A. Young (A) 3. I
(B) Darlymple (B) EreAiwId
(C) A. Penk (C) 3. T
(D) Peltier (D) Tfeesr
Match the following and select the e Sega ST Ard 9 et feeiean
correct answer from the codes given {*icl‘:)clichlckl faer .
below : a1 a1
List I List II (@) T&q WHU (WEE) (1) @R 9 Ao AR
(a) Macroscale (Planetary) (1) Land and sea breeze (b) 9= FHIU (fafzmse (2) B'QEFZITCI"} W
(b) Macroscale (Synoptic) (2) Dust devils HTCh ) e
(¢c) Mesoscale (3) Hurricanes (c) H¥ FHII (3) Blh=g
(d) Microscale (4) Westerlies (d) g&H JHM (4) 9=t AR
Codes : Hehdleh :
(@) b) (c) d) (@) (b) (c) (d)
A) @) (1) 3) (2) A @) (1) 3) (2)
(B) (3) (2) 4) (1) B O (2) 4) (1)
< @ 3) (1) (2) < @ 3) (1) (2)
® @ @O & @ ™ @ @O & @




Assertion (A) : The isotherm lines
remain almost parallel to one
another and parallel to latitudes on

oceanic surfaces.

Reason (R) : Temperature at
meritime location are free from effect

of elevation.

Select the correct alternative using

the codes below :

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but
(R) is not the correct

explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

MAY - 36316/III—A
faam™ (A) : SO TG FHATIRS

THHGHE d ST S STded THIHR

ST

SHROT (R) : 9 T AT9HE S

ROTHTAEA Ho ST

@il Hishdishldent Iy faeheq
aer

- -
.
.

(A) (A) @ (R) Sl SR 3ATed 3TIfUr

(R) T (A) 3 T TR 3T

~

(B) (A) 4 (R) &t sRIeR 31ed W (R)

T (A) T T TR AR

(C) (A) ¥ R o Wg (R) § I
3T

D) (A) § I% 3¢ Wg (R) T SR
3Te

[P.T.O.



10.

Which one of the following is correct
chronological sequence of storms by

its names in Bay of Bengal ?

2014 2013 2013 2012 2010
(A) Hudhud Lehar Helan Nilam Laila
(B) Hudhud Nilam Helan Lehar Laila
(C) Nilam Helan Laila Hudhud Lehar
(D) Hudhud Nilam Lehar Helan Laila

11. A wintertime index—Windchill’

12.

USES wuvvennennnn to calculate the human

sensation of temperature.

(A) air temperature

(B) rainfall and air temperature
(C) wind and air temperature
(D) wind

Heat stress index links
determine the thermal comfort of

human body.

(A) wind and temperature

(B) air pressure and temperature
(C) sunshine and temperature

(D) humidity and temperature

10.

MAY - 36316/II1—A

EATeTUeh! sTer=d] SN See=l

AEAER IR HIAhT RVl R ?

2014 2013 2013 2012 2010
WTSEE AR Ted  em wen
B)gSge  flom T W oIl
©ffem ¥ T TEgS TR
DFSge Fom R Fed el
11. AMEATET ArOHEME S10E SfauarETel

12.

] o

feaTesaTdie  amd-3fass '

17

qiEl A4 e enledld.

(A) &9 AIHH

(B) USi=1 & BA9 dIHM

(C) IR & B9 q9qH

(D) IR

Hrat IO 371TS0TeR Tereer StfavamEmet
SATOTRT SS0Tel QroT feTieh RIE|
He W 3Tl

(A) IR 9 AYHEE

(B) 9g¥R & ATTHM

(C) QIR d AIHH

(D) oTsd & qEE
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13. Read the statements (@) and (b) and 13. faum (@) 9 f&BuE (b)) =¥ a=F HEd

choose the correct answer from the

codes given below :

(@) In general, regions influenced
by high pressure, with its
associated subsidence and
divergent winds, receive ample

precipitation.

(b) The general features of the
global distribution of preci-
pitation can be explained by
global winds and pressure

systems.
Codes :

(A) Both (a) and (b) are true and
(b) is the correct explanation

of (a)

(B) Both (a) and (b) are true but (b)
is not the correct explanation

of (a)
(C) (a) is true but (b) is false

(D) (a) is false but (b) is true

o N

ERY Erell feeiean Hehdrhiqd A

fasea faet

(@) IoACIE ST RN el TeoHd
nfor ST9ERt ar AT weTferd weemd
TR IHE Tl

(b) T TEE faaoTdiel HEETHA
IR T IR 9 TR YT

JEER T Il AdTd.

(A) (@) T (b) Tl SRR Ted 9 (b)

T (@) 3 TgH TARHI TR

faY N

(B) (a)F (b) Tt IR 3TMed W (b)

T (@) ¥ gH TR ARG

(C) (a) SR AR TG (b) § I
I

D) (@) I 3R T (b) & T 3R

[P.T.O.



14.

15.

16.

Which two of the following cloud
types do not fit into classification

based on height ?

(A)

Cumulus and stratocumulus

(B)

Nimbostratus and cumulo-

nimbus

(C)

Cirro-cumulus and cumulus

(D)

Cumulus and cumulonimbus

Mean monthly temperature values

in coldest month are

............

tropical rainy climate.

(A) between —3°C and 18°C
(B) less than -3°C

(C) between —3°C and —18°C
(D) greater than 18°C

During the ocean basin development
stage shows the following

characteristics “broad ocean basin

widens, trenches develop and

subduction begins.”
(A) Embryonic

(B) Juvenile

(C) Mature

(D) Declining

14.

15.

16.
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AN\ NN LN c A
LAl Yehl <nlUld _Q;IT‘T <llld Heh[X sHIAY

M fieR<ud o9d Aeid 2

(A) I i LRged
(B) THargeq snfor sgqeterd
(C) TeiergerE enfor g™

(D) I ST Ao

IEUTh{eaENT IO gATAMIACT ShATC =T
I TR HITEeh T arqH o

(A) —3°C 4 18°C =1 M
(B) —3°C Ul HHl
(C) —3°C 4 —18°C =1 M

(D) 18°C Y&l S

el A& fogd Jard ¢ Saraeh S Rl
TTEd, At T BT § THIE EETd
7.

(A) TuferEen

(B) dreamaEen
(C) HrererEen

(D) “erTeEen

10



17.

18.

Assertion (A) : In Atlantic Ocean,

Oceanic trenches are largely absent.

Reason (R) : Atlantic Ocean has
divergent boundaries of various
lithospheric plates in the form of mid-

Atlantic Ridge.

Read the statements given above
and choose the correct option from

the following :

(A) Both (A) and (R) are true and
(R) is the proper explanation of

(A)

(B) Both (A) and (R) are true but
(R) the

explanation of (A)

is not correct

(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

The tidal range at ........... is supposed
to be the highest recorded tidal

range in the world.
(A) Bay of Fundy
(B) Hudson Sea
(C) Gulf of Bothnia

(D) Black Sea

17.

18.

MAY - 36316/III—A
faam (A) : sTedifes HBMIRG SR

Tl dgdeh e 3R,

HIOT (R) : STAIfCH HIENNG 3T
Tercmereia queeren faertientoia S

e 3Tl W=AT W& 3Rd.

R faum aTF Eeliel TH YT ST
ERIRIEEEIEE:

(A) (A) F (R) T=I Tagm seR 3w
[R) T (A) = A7 TR0 3R

(B) (A) T (R) <l faem sfisR o1
R) ¥ (A) 3 I TEIFIO TG

(C) (A) TR =T g (R) T I 3T

(D) (A) T 38 WG (R) § SR 3T

Jfid IATRET B S Faid
S faftfara demeRan STR.

(A) HSET STENR
(B) sedd 9%
(C) g STeEd

(D) <hTedl |HS

11

[P.T.O.



19.

20.

Which one of the following
statements is incorrect about

biodiversity hotspot ?

(A) It must contain at least 1500

endemic species

(B) It has to have lost at least 70%

of its primary vegetation

(C) It is a biogeographic region rich
in biodiversity that is under

threat from humans

(D) Maldive island is known for

biodiversity hotspot in South
Asia
Energy flow in a ecosystem is ........
(A) Unidirectional
(B) Bidirectional

(C) Multidirectional

(D) Non-directional

19.

20.

MAY - 36316/III—A
Safafaedea glewie dIed  Selciueh!

HIod fouE g% e ?

(A) T fHAM 1500 FoRSS FSrd!
3T AEIIE 3R

(B) Wil @fifer aeadiyent foram

70% T= A STHTATd

(C) 7 SEfafaea TgE 3T Uae Tal

I SITAT HHEATAEA B GIgd

I

(D) Al o< ©§ QiU SRR
Stafafagas glewie A 3w

12
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21. Which one of the following is not | 21. w@reiieiient U G ol WIEE FhR
a major type of fresh water T 2
ecosystem ?
(A) =R
(A) Lentic
(B) Lotic (B) <=
(C) Wetland © ﬂlﬁ’{‘zﬁ
(D) Profundal (D) W
22. Which two of the following coastal | 22. TTeRISIR & W&Ig =1 Sr=a1 HHEIRTE™
areas, apart from Nicobar and JdTes TSI Wefietish! ShIveT i
Lakshadweep is land show coral reef IR A e weena foemfea
development : T 3R 2
(1) Karnataka coast (1) hAfesh fomam
(2) Gulf of Khamboyat (2) WYEE 3T
(3) Gulf of Mannar (3) HERE 3@
(4) Gulf of Kuchch (4) F=9 STEmE
(A) (3) and (4) (A) (3) =Tfur (4)
(B) (2) and (4) (B) (2) i (4)
(C) (1) and (3) (©) (1) =TT (3)
(D) (2) and ) D) (@) @ (3)
13 [P.T.O.



23.

24.

Given below are the major forest
types observed in Himalaya region.
Which of the following is the correct
sequence of forest types with respect

to increasing altitude :

(A) deciduous—mixed—coniferous
—alpine meadows
(B) coniferous—mixed—deciduous

—alpine—meadows

(C)

deciduous—mixed—alpine

meadows—coniferous

(D) mixed—coniferous—deciduous

—alpine meadows

Which of the following Greek
contributions to Geography were lost
during the middle ages especially in
Europe ?

(A) Knowledge about the spherical

shape and circumference of the
earth

(B) T-O world maps with east shown

at the top of the map

(C) Ability to draw maps using
gridlines with mathematical

base

(D) Art of making Portolano Charts

23.

24.
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fedTe@a feegd JUR Jq@ 9

TS Yeh R et oot TR, <ATeie
el SHITUR  STHUIRT A1 SThH
@

(A) TS —ayg—g=Taui—steursa
Exull

D

(B) HEuoi—fHy—asrel—sTeurs
Exul

(C) dTsrel—MHy—3Teursd I —
ot

(D) fag—g=goi—ursrei—steursa
Eaul

W] ShIvTdl TSR] Wk ANTe
SR TeA e, Tomre : JAard e
fam ggen dar ?

(A) geef=n TMereRR 3for foeen aftatadi=
A

(B) T-O A=l <ahm! <aiaX qafeem
ToRTETAT TSR gEifoelt TR

(C) SIBNE aTR &% TRl T

HOATE] &I

(D) TR (I1EY) SIEe It
Sl

14



25.

26.

27.

Which of the following statement is

not correct ?

(A) Aristotle followed the inductive

approach

(B)

Herodotus was the follower of

Ionian school of thought

(C) Plato followed the deductive

approach

(D)

The geocentric concept was

given by Ptolemy

The first climatic Atlas (Kitabul-
Ashkal) was prepared by :

(A) Al-Balakhi
(B) Al-Masudi
(C) Al-Beruni
(D) Al-Maqdeesi

The main contribution of Ibn-

Khaldun was in the field of :
(A) Historical Geography

(B) Human Geography

(C) Physical Geography

(D) Regional Geography

MAY - 36316/II1—A

25. Welauesh! HIUM a8 o o ?

26.

27. ISI-WegA drd AN

(A) 3fEfee farmHr SR STTER
el

(B) TUered g fa=m gammEn
T e

(C) wieH frmt gedfehama STTERu
el

(D) YFhald Fehoudl 2ol I HISat

qfgett gemaHrEl FRRn wUE (feRded

3IgRT) IV TN hell ?
(A) FA-saTE!

(B) FcI-FgEt

(C) FcA-sRE!

(D) TA-FehfeHl

N NN

HIQI A

GENES 3TR.
(A) Ufererfess sfre
(B) AMet o

(C) WTehideh Yl
(D) fers ot

15

[P.T.O.



28.

29.

The chorological approach in

Geography was initiated by :
(A) Richard Hartshorne

(B) Hettner

(C) Richard Peet

(D) Richthofen

Decide the validity of the following
statements by selecting the correct

option given below :

(@) ‘Who gets what, where and
how’, is the key question posed

by the proponents of ‘locational
school’ in the 1970s.

(b) By conducting researches on
themes related to quality of
living, housing, access to basic
Welfare

Human Geography proponents

amenities, etc.,

appreciably attempted to make

the subject socially relevant.

(A) Both the statements (a) and (b)

are false

(B) Statement (a) is false (b) is true

(C) Both the statements (a) and (b)

are true

(D)

Statement (a) is true (b) is false

28.

29.

MAY - 36316/II1—A
T Teeh! It eie feuuft Seft ?
T hIarsied’ o]
AT e,
(A) = e
(B) &R
(C) f=E de
(D) Raeire

Wrefidl Tasm= Tcrar Eeiid atdiie!

o

[ag HRell @

3fea qai™

(@) ‘i w1 fHesd, |S A K9’
B T foaRER=n k]
1970 =A1 ST SR hededl
Fooal YT T

SO OTer, TESUCTSEl, HeA¥d
g T, stereRe faeamn

TGINYT HET HATURTT AT

(b)

Tiare qRERcHl e fas™
qrTfSTehg s |ief hvamEl W
IS el

(A) (a) M0 (b) & <t forem srgerReit
e

B) (a) T f99M ATRIN 8 W (b)
FRS [ G

(C) (a) 0T (b) & SI= faem Heesit
e

(D) faem (o) @R aR W (b)
TR 3TE
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30. Decide the validity of the following

statements by selecting the correct

option given below :

(@) An input becomes a resource as
it is perceived to have both

utility and value

(b) In the era of globalisation
experiences of nature, culture,
life in rural areas or even slums

tend to acquire exchange

MAY - 36316/II1—A

30. YEia foumi= T @mefia qararent

e Tt e uReEn -

(@) TR ¥ degia HHET TUA el

ST STegl I U ST Heorg]
T Y Bl

STRTT TR eh U= T e, S&ahat,
oS fehar Sugugidiel STl
FTETETAT STINEHT SR W

Tl
(@) 3701 (b) & =t faum goaestt

(b)

(A)

value -
(A) Both the statements (a) and (b) B) (o) o TeREl ® () STEE-
are true .
(B) Statement (a) is true (b) is false ©) (@) foum sraeRe @ (&) ges
(C) Statement (a) is false (b) is true e
(D) Both the statements (a) and (b) D) (a) 3T (b) & Sl faer sreerEel
are false e
31. In which of the area given below, | 31. el fGcican v YT ot AT
the life expectancy is the lowest ? RN TR ?
(A) Africa (A) STIThehT
(B) Europe (B)
(C) South America (C) efaqor st
(D) South Asia D) Tfao s
17 [P.T.O.



32.

33.

Which of the following State/UT
has the highest sex-ratio in 2011

census ?

(A) Puducherry

(B) Tamil Nadu

(C) Andhra Pradesh
(D) Manipur

On the basis of Indian Census 2011,
which of the following statements is

incorrect ?

(A) The sex-ratio in India is decent

and improving year by year

(B) It is estimated that population
of India will be stabilised in

2060

(C) Growing by the current
population growth, India will

cross China population by 2030

(D)

India’s 35% population is below

the age of 25 years

32.

33.

MAY - 36316/II1—A

EATeAUeh! ShTUTcT o3/ <h geNTad e 9T=

SO 2011 THR Faifd S femsmmT
A ?

A) gg=ad
(B) e
(C) sTyues
(D) W

GATE SOET 2011 T SRR,

Tt hod faam 9% o ?

(A) vRare famyamor Sfeq o)
ToTies foenfaa 8 oTe

(B) YAl ShEEa 2060 A& feeRr

RIS Y SIS el 3

(C) AU ARIEIAERTHY J¢ Bid

g™ @ ¥ 2030 A& 9N

= qe SEd

(D) YRS 35% TAIhEE 25 ol
HE TSI 3R

18



MAY - 36316/II1—A

34. Migration is an important factor | 34. = AT TIATR Teh HgA™l ®Zeh
in : e,
(1) Changing age composition (1) <o o9 ey
2) Ch i iti .. o .
(2) anging sex composition (@) e T sy
(3) Inducing high birth rates
(3) = SHUH =Tl
(4) Diffusing culture and infor-
mation (4) TERdl 9 Hifed= TER00
Select the correct answer from the welerien! a9 faseq faer
following :
g (A) T (1) 9
(A) Only (1) is correct e
B) (1), (2), (3
(B) (1), (2), (3) are correct (B) (1), ), &)
(C) (1), (2), (4) are correct (C) (1), (2), (4) T
(D) Only (1) and (2) are correct (D) & (1) 9 (2) a4
35. Concentric Zone model includes the | 35. HHhald HicdY WEUM TE@El &
following zones within a city : Tt faum e
(1) Wholesale and light manu- (1) =&k 9 F@E@ﬁ"‘[ﬂé
facturing zone @) SRR &
(2) Commuter zone < n - .
(3) hIF AEHNIhR hl[ZdY
3) Central business district A m em
( (4) ST A e
(4) High class residential zone .
' T AT IR HFHAMAGT et
Arrange these zones in correct oot St st A s
sequence starting from the core of the r—
city by using codes given below : ’
@A) (1), 3). @), 2) A) (D), 3), (4), (2)
(©) @), (), @), @) ©) @), @), @), @
D) (2), 3), (1), (4) D) @), 3), (1), (4)
19 [P.T.O.



36.

37.

In the classification of urban centre,
as per census of India, class IV

denotes population.

(A) 50,000—99,999
(B) 20,000—49,999
(C) 10,000—19,999
(D) 5,000—9,999

‘City region’ refers to which of the

following ?

(A) An area demarcated by

Government

(B) An area around the city to
which the city has transport

linkages

(C) An area around the city over
which the city exercises a
dominant influence in relation
to other neighbouring cities of

equal importance

(D) An area around the city that
supplies food and labour

resources to the city

36.

37.

MAY - 36316/I11—A
TR SUFTTER Shetedl TR Shal=l

(A) 50,000—99,999
(B) 20,000—49,999
(C) 10,000—19,999

(D) 5,000—9,999

‘TR 99’ Walaiiehl Hyal Heuid

Aqe ?

(A) I HHifeRd

ool &
(B) TRUEWEde™ &F W el
EILSCIRESIE IR

(C) IRUEYEdad Ueh &F Sge ol

el IS TREE HE<d

ST YR Il id S GTel

KSrerl|

(D) IEUE ST 9 AR GHIEH A
Q&3] HOR AT YETH AT
&

20



38. Match the List I with list IT and

select the correct answer from the

codes given below :

List I List II

(City name) (Urban functions)

(a) Roorkee (1) Administrative
() Dhanbad (2) Mining
(c) Itarsi (3) Transport

(d) Gandhinagar (4) Educational
Codes :

(@ () (c) d)
A 3 @ (1) 4)
B @ 2 3) (1)

© & @ (4) 2)

M O @ (2) 3)

MAY - 36316/II1—A

38. [T I 9 T II A=A el Seeadil

o

o foreamyA A 9EE

eI
ferer -
T 1
(I 7Ter)
(a) ®LHT
(b) G
(c) TeE
(d) TMHFR
Hehdieh :
@ ()
@ 3 @
B @ @
© & @
® O @

T 101

(T )

(1) YMEHI

(2) WIUehH

(3) TTEqH

(4) SegforeR

(c)

1)

3)

4)

2)

)

(4)

1)

(2)

3)

21
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................... provides competitive edge

in exports of garments from

Bangladesh.
(A)

Abundance in production of

cotton and jute

(B) Heritage of skills of fine textile

weaving

(C) Microfinance networks and
exploitative gendered division

of labour

(D) Empowerment of women

workers

40. Match the List I with list II and
select the correct answer from the

codes given below :

List I List II

(a) Primary activities (1) Gold collar workers
(b) Secondary activities (2) White collar workers
(¢) Quarternary activities (3) Blue collar workers

(d) Quinary activities (4) Red collar workers

Codes

(a) (b) (c) (d)
A @) 4) (1) 3)
B) @ (3) (2) (1)
(NENE) (2) 4) (1)
D) @) (4) 3) (1)

MAY - 36316/II1—A

oS TFATGIT HYT TAR FHISHT

frafdia Sy wraer fHesdl.

(A) FH F <2 I foaqa 3

(B) daH 14 Taurehm™ ST Sl

(C) g&A foraeeren 9 fuesere fermenia

SEICIRC R SE

(D) WAfgeT HHIRE el ehTo

40. T I 9 g 11 A= Sedl Jesarar
arell oo fasmeumya Ara gl
IREEIE

Tt 1

(o) Wafw fora (1) gl Teug! SR
ORECERER] (2) oA TeEUEl HHTR
() =qd femam (3) s TBUET HAR
AR ECIRED (4) TS TBUET AR
Hehdich :
(@) (b) (c) (d)
A (@) (4) (1) 3)
B) @) 3) 2) o))
< 3 (2) 4) o))
D) (@) (4) 3) o))

22
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41. Assertion (A) : Market factor

41. fagm™ (A) : INRUS T TEHTERTAT

generally determines the character

of farming :

Reason (R) : Places away from the
market generally grow crops which
can afford the cost of transport to

the market.

Which one of the following is

correct ?

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but

(R) 1is not the correct

explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

I St freifa s

HRUT (R) : SSRYSTHA X STHOR

TShTOT FEETHROET ASTRUSA STUaTHS!

JURT RAS ©H RHEARi TR

(A) T8I (A) d (R) 319 3197 (R) B

(A) I ITY TR B

(B) =T (A) 9 (R) 3% 3 W

(R) T (A) ¥ 3% TISHIT]

_"nﬁ

(C) (A) 9% & WY (R) T I 3T

(D) (A) I 38 g (R) T 3TH TR

23
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42. Match the List I and List IT and
select the correct answer from the

codes given below :

List I List II

(a) Brazil Plateau (1) Tin mining and rubber

production

(b) Malaysia (2)

Petroleum production

(¢) Venezuela (3) Engineering industrial

production
Coffee and iron ore

(d) Southern Japan  (4)

production
Codes :

(@ () () d)
@ @ @ (1) 3)
B @ @ (4) 3)
© @ @ 2) 3)
M @ @2 3) o))

MAY - 36316/II1—A

42. g 1 9 g 11 A= Sieal Sesedr ]

aret fociean faweamys A vy
ferer .
et 1 T 1
(a) TS TSR (1) HAA El
LE 3T
(b) HATITT (2) TSifera® IR
(¢) RIS 3) SRRt
3T 3cameH
(d) SI&I0T S (4) G T A7 @
IeqEA
Hehdlah :
(@) (b) () (d)
A @ (4) (D 3)
B) @) (1) 4) 3)
< @ (1) 2) 3)
D) @ (2) 3) (1)
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43. Which of the following statement/s

44.

is/are correct ?

(@) Heavy flooding affects both

land and water transportation.

(b) Presence of deserts and forests
do not affect the transportation

system.

(A) Only (a)

(B) Only ()

(C) Both (a) and (b)

(D) Neither (a) nor (b)

Which of the following statement/s

is/are correct ?

(@) Alfred Weber advocated his
industrial location theory in the
year 1939.

(b) He tried to establish labour costs
and agglomeration factors are
important than transport cost in

industrial location.
(A) Only (a)
(B) Only ()
(C) Both (a) and (b)

(D) Neither (a) nor (b)

MAY - 36316/II1—A

43. WauR! ®vG faum oTeeh R ?

(@) FRIYUHS HHI & Tl STEehieR
g 2l

(b) dMeede d AT AT eI

I IR i AT
(A) %9 (a)
(B) wHax (b)
(C) T (a) T (b)
D) (@) & (b) TEE R

44, EAURT FOG fI9M = AR ?

(@) 3TTHE IeR I 1939 HEA &

o o

TeTeh IR o= fagTare THedq el

(b) STIM=AT TUMTRIHIONT  ATEIH

TETIE AR ©E 9 AreweHE
T W qul 3118 7 TEAfud shiosr=
TIH .

(A) F9B (a)

(B) wa® (b)

(C) T (a) T (B)

D) (a) & (b) =& &

25
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45.

46.

Von Thiinen’s model of agricultural
land-use assumes a hypothetical

state that is characterised by

plane.

(A) Isostatic

(B) Isographic

(C) Isomorphic

(D) Isotropic

The fundamental concept on which
the Isard’s industrial location theory

is based :

(A) Principle of interdependence

(B) Spatial equilibrium through

substitution

(C) Least transport cost

(D) Principle and hierarchy

45.

46.

MAY - 36316/II1—A

A AT FH H-SUASE g

et aieRfead feerdt, <t

ToreIfRTSe €Rferd.

(A) TR

(B) ©HYSS

(C) 9H&"

(D) THfgH

sETSEn STEnfier Tenfaesishtomen fagid

FHIAT AYd Hhodda SRl

qE ?

(A) A TTAdETE <

(B) wfqaiSrehareal STEReR  STf9ersiy

e

(C) fwaM aRqs Td

(D) aXd I SuEan
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47.

48.

Nazis vociferously advocated the

during 1920s to

justify their territorial demands to

concept of

-------------

contain population growth and by
considering individual’s subordi-

nation to the state :

(A) Racial purity and dictatorship
(B) Space for human footprints
(C) Lebensraum or living space
(D) Economic and social space

Which of the following countries are
divided by anthropo-geographic
boundaries ?

(1)
(2)

India and Pakistan

Israel and neighbouring

countries
(3) North and South Korea
(4) North and South Vietnam
Select the correct option :
Codes :
(A) (1) only
(B) (1) and (2) only
(C) (3) and (4) only

(D) (2) and (4) only

47.

48.

MAY - 36316/II1—A

AR IEATATE | SIS TR
TS A RIS 9 eIyl
faad RS fa=moa 99 1920 =0

HheqTal STIRER
EHRR hedl.
(A) RF o1 9 FHIE]

(B) el Ugfagr g o

(C) woeEd fopan areea™

(D) MY & drIfSieh €
refetien! ShIvI <31 HSI- AR ifersh ST
fourTel smed ?

(1) 9Rd o TifeR&i

(2) SEEA d ISRIA Q¥
(3) SW & T ®wIE
(4) IW 9 <fagm fgua™
I fomeq faer :
Hehdich :

(A) & (1)

(B) e (1) Imfor (2)
(C) el (3) M1 (4)
(D) wH (2) 30T (4)
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49. The definition of social geography as

50.

“The analysis of social patterns and

processes arising from the

distribution of and access to scarce

resources” was proposed by

..........

(A) A. Buttimer

(B) J. Eyles

(C) E. Jones

(D) R.E. Patil

The Buddhist population is most
numerous in which of the following

states of India ?

(A) Kerala

(B) Odisha

(C) Arunachal Pradesh

(D) Chhattisgarh

49.

50.

MAY - 36316/II1—A

" gftfes ArEEURITS oo 9 ot ST

qeft arqes fafor o wmrfeeh

SMpfaay 9 giward fageom’’ ot

At 3.
(A) T FLR
(B) I T
(C) 3 S

(D) IAR3. T

g RS TRAT EeiieTueh! Shiore

TSI Helid SEd 378 2

(A) BB

(B) shfesm

(C) STRUTIAYRY

(D) JETS
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51.

52.

Of the four language families in

India, the most diverse is the

as their speakers communicate

around 80 different languages.
(A) Austro-Asiatic

(B) Dravidian

(C) Indo-Aryan

(D) Tibeto-Burman

Which of the following tribal group
is not indigeneous to Andaman and

Nicobar islands ?

52.

MAY - 36316/II1—A

Ty fi= 3T HROT A1t sk 80 fafay
Ao HATE HET.

(A) sreg-sniRrts

(B) sfafem

(C) -3

(D) faad-sA

EeTeTdeh! I STHIET T8 o
sica™ orfor fasptan grawyEET=n
& ?

(A) Onges (A) e
(B) Jarawas (B) S{Em™
(C) Kadars (C) =prsX
(D) Shompens (D) QTT-q-a:\:L
53. Which of the following is not a | g3 e ot HGh{deh sieaAr=l Uighan
process of cultural change ? M ?
(A) Diffusion (A) JER
(B) Acculturation (B) weaigierd
(C) Segregation (C) 37T
(D) Innovation (D) e
29 [P.T.O.



54. The principle of ............

55.

implies that
each region constitutes a sub-system

of regional system whole.

(A) Vertical unity of phenomena

(B) Horizontal spatial unity

©)

Ecological equilibrium

(D) Equilibrium between social

desirability and economic
viability
Core-Periphery Model pertaining

to development was proposed

(A) Hirschman

(B) Friedman

(C) Gunder Frank

(D) Gunnar Myrdal

MAY - 36316/II1—A

T O 3T gafad i, T TR
TR eI Taf¥Teh ST- AL 5[Zeh

3Tl

(TSN

(A) Sl SEHfCRIdIA Tehdl

(B) farfasamiar stfussia wendn

(C) URfErdentd THdre

(D) TSR TRTATST o affefer &rH

It FHAA

(B) firewa

(C) T e

(D) TR fhefa
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56. Match the List I and List IT and

select the correct answer from the

codes given below :

List I List II
(@) Walter Christaller (1) Growth Pole theory
() Gunnar Myrdal (2) Central place theory
(¢) Albert Hirschman (8) Trickling down force
(d) Francois Perroux (4) Backwash and spread
affects
Codes :

57.

(@) (®) (c) d)
A @) 4) 3) o))
B) @ 4) (D 3)
< 3 (D 2) 4)
D) @ 3) (1) 2)
An industry that encourages
investment in the earlier stages of

production by expanding its demand

for inputs is called :
(A) backward linkage
(B) forward linkage
(C) weak linkage

(D) strong linkage

MAY - 36316/II1—A

56. =t I 3for = 11 =41 Sirea Segan 3for

Tl HehdlehTash
Tarer -
T 1
(@) dfeet foheer (1)
(b) TR fhefa )
() oTeae fedvd 3)
(d) TherlzH e 4)
m :
(@) (b)
@a 2 @
B) (@) (4)
(NENE) (1)
D) @) 3)

I fased

T 11

Fo o fag
EEARRSIEREEAR
Y e gRum
Iy W 3o

Lo qRomH

() d)
(3) 1)
(1) (3)
(2) (4)
(1) 2)

57. UM S HAQGHMCS! =l AT e[

EANT= oA [aUehid WE= <l

(A) 9fq gEre
(B) T “f&ren

(C) ¥R FEa

(D) IS/ eI

[P.T.O.



58. The foothill zone of Shiwalik denotes

59.

.............. characteristic of planning

region.

(A) Natural cohesion

(B) Functional unity

(C) Regional consciousness
(D) Economic viability

Resource base of sub-region of
western peninsular planning region

of India is ...........

(A) Ferrous mineral production—

tourism—wheat production

(B) Cotton processing—coal mining—

horticulture

(C) Hydro—power—cotton

cultivation—horticulture

(D) Petro—chemicals—cotton and

millets—ferrous metals

MAY - 36316/II1—A

58. Tmarelie qeamn faum fHaeH weema

59.

7 ofyre guifear :

(A) gt Hegd

(B) hEicHsh Tehdl

(C) Uefirer STvig

(D) 3Tféier  eHan

TY=H gi9hedrd RIS gevmr=a 39-

(A) g WS IIRA—qATA—Tg.

BiRic!

(B) TYH UfhaT—hIcsdl SITThTH—

HACae

(C) ScAfoIgd—ehTgd ScaG1—hallcare
(D) WR—HEA—qH & 9=—ag

T
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60.

61.

Consider the following statements :

(@) Objective of regional planning
is to remove regional disparities

in socio-economic spheres.

(b) India has seen success in
resolving regional problems

with involvement of local people.

Which of the above statement(s) is/

are correct ?

(A) Only (a) is correct

(B) Only (b) is correct

(C) Both (a) and (b) are correct
(D) Both (a) and (b) are not correct
10 Degree channel separates :

(A) Indian Peninsula and Sri

Lanka Island

(B) Lakshadweep and Aminidivi

Islands
(C) Andaman and Nicobar Island

(D) Nicobar and Indonesian Island

MAY - 36316/ITI—A
60. TeHeTIehT SO (/) faem (/7) SR
dqR ? 9mg fawen feer o
(@) GEIfSR-2Tfee &emda TR
feromaT g R0l € WIef¥Ten s
SER IR

(b) WA Tofish wieh HEHNTGA

Jefyes 999 grefavard Iereidn

STV 3.

(A) ® (q) IR 3T”

(B) W (b) ISR 378
(C) (a) T (b) T TR 3Ted

D) (a) 9 (b) TR FH e

61. 10 feift =@ AT ST .
(A) 9 groshed S sfieis e
(B) wi&rgid anfor stfeieta s
(C) @AM Ffor FeheR a2

(D) @R anftr SEMREmE o

33 [P.T.O.



62.

63.

Given below are the extreme
locations of India. These are further
placed with reference to different
directions. Choose the correct group
of direction-location pairs from the

options given.

Extreme locations :

(1) Dafdar
(2) Kibithu
(3) Guhar Moti
(4) Indira Point

N (E) (W) S)
A @ (2) 4) 3)
B) @ 3) (2) 4)
(NNE) (2) (1) 4)
O @ 2) 3) 4)

Which of the following rivers
originating in Himalaya forms the
easternmost major tributary of river

Ganga ?
(A) Kosi
(B) Gandak
(C) Tista

(D) Mahananda

62.

63.

MAY - 36316/II1—A

TRATAT SrehTea M= At g feeret

feore Tt Toma-feem=an o9

ST 3Teell T 9Me.

IR T
(1) TR
(2) forfay
(3) RN =i
(4) i foig

@) T ") (<)
A @ (2) 4) 3)
B) @ 3) 2) 4)
< O (2) @) 4)
D @ (2) 3) 4)

fedTe@a  STHAEOTEA qerd JEdet
FHIVEA T B TR qoRed TE
Tl R ?

(A) =rdl

(B) TEs®h
(C) fa=m

(D) Hewel
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64. Which two of the following hill

ranges from Peninsular India are
not part of water divide between

Arabian Sea and Bay of Bengal ?

MAY - 36316/II1—A

64. WIellciUeh! YRAE gGlaehedldicl ShIoTcal

M SR I ST TS, 9 Serl STERR

LA STATTYTSTeR= 9FT ATl 2

(1) dITeATene
(1) Balaghat

(2) fSier-gradres
(2) Ajintha-Satmal

(3) WERd
(3) Mahadev

. (4) Tt

(4) Maikal
(A) (1) and (2) (A) (1) erfor (2)
(B) (1) and (3) (B) (1) s3mfur (3)
(C) (2) and (3) (C) (2) 3T (3)
D) (2) and (4) (D) (2) a7t (4)

65. In which of the following parts of | g5 wgrE GEiUSRT ST 9T g3
India, Kuttanadu, having elevation HUETIEA HHl SR STHelel HI2Ae
below sea level is located ? oyl feug e ?

(A) Karnataka Coast (A) FHlew R
(B) Minicoy Island (B) fafshia s
(C) Kerala Coast (C) & T
(D) Nicobar Coast (D) fpER o2
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66. Find the correct sequecne of states,

67.

68.

in descending order, in terms of iron

ore production states :

(C) Chhattisgarh

(G) Goa
(K) Karnataka
(O) Odisha

1) (2) 3) 4)
@A © (©O (K) (G)
B K (O () (G)
< » (©O (K) (C)
O ©O K (e)) (9))

Which of the following State/UT gets
IInd rank in the list of density of

population next only to Delhi
(NCR) ?

(A) Lakshadweep
(B) Pondicherry
(C) Daman and Div
(D) Chandigarh

The smallest, officially recognized

minority group in India is ........
(A) Parsis

(B) Buddhist

(C) Anglo-Indian

(D) Jains

MAY - 36316/II1—A

66. YRAMIA AREHS Scae SHhIom=T WAt

67.

68.

TSI 3Tk 3l A Sl

(C) SETS

(G) Tan
(K) wtesh
(0) efifesm

(1) (2) 3) 4)
A © ©O K) ()
B X (O ©) ()
< @ ©O K) ©)
D O K (e)) ()

ETeATeTdeh! IV oA/ SINad W2
MHFEEAT TAd=a1 Ggufa  feeat
(H.T9.) =0 ST ShHIRER
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69.

70.

71.

‘The values of three variables a, b
and ¢ must sum to a constant K

usually represented by 1 or 100’.

This is the requirement of
(A) a pie diagram

(B) a cube or sphere diagram

(C) a ternary diagram

(D) a star diagram

Which of the following statements,

with respect to geostationery

satellite is not true ?

(A) They are located at around 36

thousand Km
(B)

They are particularly useful for

communication

©)

Their speed is synchronised

with earth’s rotation

(D) They are at fixed location and

are not moving

Which of the following is not a

remote sensing satellite ?
(A) IRS 1A

(B) CARTOSAT

(C) RESOURCE SAT
(D) IRNSS
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(A) IRS 1A

(B) CARTOSAT
(C) RESOURCE SAT
(D) IRNSS

37

[P.T.O.



72.

73.

74.

75.

In multiple regression analysis the
hierarchy of variables can be
determined on the basis of squares
of respective .........
(A) Coefficient of variation

(B) Variance

(C) Regression coefficient

(D) Mean

Product of regression coefficients of
Y on X and X on Y equations
provides the value of ..........
(A) Coefficient of variation

(B) Unique variance

(C) Covariance

(D) Explained variance

Which of the following regression
model will be best suited for the set
of data where both X and Y variables
show geometric progression ?

(A) Y =a + bX

B) Y = abX
(C) Y = aX?
D) Y = a + b;X + byX>

A map in which soil types or
geological formations are shown by
different colours or gray levels or
shading patterns is an example of

(A) Isopleth

(B) Choropleth

(C) Composite

(D) Chorochromatic
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FR T g e 2

(A) Y = a + bX
B) Y = abX
(C) Y = aX?

D) Y = a + bX + byX?
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(A) T

(B) &Tert

(C) Tas

(D) &=
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